Buying Chips and Candy T1

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.
Jody buys 4 bags of potato chips and 2 candy bars. She spendé $3.00.

Later Clancy joins Ralph and Jody and asks to'buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay. '

w

Ralph writes _ 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and & stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

it Means the clollar amount vith vi6 decinml, the- ‘r)erg/

MO |

2. Write a similar equation, using p and b, for the items Jody bought.

l«lp *3b =300
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar. 1
potato chips__« ys ¢

: candy bar (‘0044(
Show your work.

-7 [P f?bfwo

- 3p+Yb=375 thob=300 |
-Bp Yy =-l0o =990

_ — - 10 - 10
—2p= 2L5 5 b

P=4s

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

no
Explain your answer by showing your calculation.

becouse Y5 +.60 =).03 he's S carts over -
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay. '

Ralph writes ‘ 3p+4b =375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

S NOW an | . R

S '
. .

2. Write a similar equation, using p and b, for the items Jody bought.

_4po=3D
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chips . IS—O
candy bar L""@

Show your work.

Iso

3
Yp+r =00 Q"?‘:‘:ﬁ:ﬁ
) “ o4 0= 3135
P o= 33 |
Ho+r Ao =300 =50
) wTAS
ge+e=190 Q= 42Ash
?‘\‘b=75- HQ 40

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Explain your answer by showing your calculation. 5
/O o ¥
= ub
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

T

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75. -

Jody buys 4 bags of potato chips and 2 candy bats. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

.(_0'2( t;' e
. W
Ralph writes 3p+ 4b 375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

245 is Y dotel FHof cenhy Kalph Spent
on_his_Cardionss ond_potodo chigs.

2. Write a similar equation, using p and b, for the items Jody bought.

“p +2b =300
?CO‘Q{»\ cents & Y potuto chiys
33 - (/qg} n cerd ol Yo Cﬁ\!‘%bmj
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3. Use the two equations to figure out the price of a bag of potato chips and the price &f a candy bar.
potato chips P (’/5

candy bar . (0 O t
Show your work. P CR
?&\pk-— 3 \'{ '—3.75< 4ys

Jody - 4 Z -0 3

)35
1-5 )_./.’D_I"H.BQ aS .
15007 57 il \
] -@;5-5 - C ends Apiel € 55 613 6o
75 3
e IS
urooo3= A5
30 »
(") -0

-

4. Clancy has just $1. Does he have/@ugh money to buy a bag of potato chips and a candy bar?

No

Explain your answer by showing your calculation.

o

+ &
for ong of each it would Be!ﬂ.%is so it wold

Lo oder §l.00 which wied\d wmoam he wisdda

houtenagn mon,
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

275 s U answes AN fafphs q;mlm‘

2. Write a similar equation, using p and b, for the items Jody bought.

HP+ra3=1300

‘_//): 300 malpy
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy ba].

potato chips . 7

candy bar . 5‘0

Show your work.
4p=Ae-300
T

p=75"

-

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Explain your answer by showing your calculation.

M lecaice A ___cndy b~ aloe.  guek [.c0.
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

] By

Ralph buys 3 bags of pot{:%hips and 4 can’{i; bars. He spends $3.75. 2 ? . L{ \D: 3 i g
Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00. 4 P A 9_\9 cJoo

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b sta ds for the cost in cents, of a
candébar what does the 375 in Ralph’s equation mean? MNe Lot Qe NN tf{. W T, \’”Q A

g &
Rt Al Hlugy 315

(Ep - S -bd 3%+ 4b-31S
—\.——"

NPTY {b- 2o

P~ e/
2. Write a similar equation, using p and b, for the items Jody bought.

(-\\"P X lo="2v0
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chips fi\‘ g ,
candy bar é ™

Show your work.

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Ao

Explain your answer by showing your calculation.

Q “QQC\Q N; C (‘M‘DSA{ (@Y Cﬂiﬂﬂkg %}C}h{ — \D C;
éo + 4‘ \00

J;M
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Buying Chips and Candy S 1

This problem gives you the chance to:
« form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends-$3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
c7xdy bar, what does the 375 in Ralph’s equation mean?

I35 (S the fotal amount 0f mone.
he swr\Jr o L \oaaé 0k mmo Chi Dé. Qﬂd
¢ Ccm/ﬂ\i bam

2. Write a similar equation, using p and b, for the items J ody bought.

A 9b=i\§\%,QQ
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chips 45 ¢
candy bar (.0 O q:

Show your work.

b"375 4 p +2 =200

3p
2 X 4‘“4\,/‘37\{ )X—i‘q\)” J*J‘“‘
,(a?\’4x+ 2= 200 Py - 4(/, @OO}
| ’fg’ffjgai
5x7/+d(§(='§‘7g o ,_X\ |
2/, YRy RO T e
() i | >(—S<LC.§
2 + N = =378

_ _-Ra8
e S
4. < \1 =150
EIENEIN ¥ =0
4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Ho doesnt bove
Explain your answer by showing your calculatlon
trough bttause 4$¢T o £ (s K105
Q«w¥f%6%rﬂaq ﬁk&) be {ax.
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. Shg spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

The feta\ cast of his pradocg
X %‘ 100 — h@ Lvoctioxs

2. Write a similar equation, using p and b, for the items Jody bought.

‘*Df_io : 30D
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3. Use the two equatlons to figure out the price of a bag of potato chips and the price of a candy §2

.  potochips_JYS
Cowyorva. candybarm -
< Pt « €= 275
(2 4642 =Zpef)

(BF”["C{'ID S
- 8- C@)’"'égo

~ 3(90225

£

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

IS

Explain your answer by showing your calculation.

<lhhe aw\\g hasd ane CE“QL*

402
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

==

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

It’'s te dotod cost,

2. Write a similar equation, using p and b, for the items Jody bought.

Ll'p* 252300
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.
potato chips 45 cents
candy bar O Qﬁn{'s

Show your work.

3p tib=315
(4p +21=300)2
3ptHb=31%
ApP=225
p=45
3(45)+4h=375
13514 b=375
Ybp=24 0
b=(0

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

No

Explain your answer by showing your calculation.

10 & LD+YD
ICO £106
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

3NS5 pmen PRIS, L gt ko e
J

C;'G('\ fre\ - }chnu:, Rl Cuae O

2. Write a similar equation, using p and b, for the items Jody bought.

‘-lg* Ab=300
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy bar.

potato chipstSL
candy baID.Q OA

Show your work.

qJQ*L\\a 3/ Sqriee 338 B

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Explain your answer by showing your calculation.

= \0"‘% X L\"—‘Q’ Ts ."/Tt C @ C:*)‘?r
e ot o e Wh\ eV ke 169
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Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

J ody buys 4 bags of potato chips and 2 candy bars. She spends $3.00. ‘

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

- Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

f ( ‘ 1P

2. Write a similar equation, using p and b, for the items J ody bought.

u=3pdb-37¢€
o/

'_\l: 3{»‘/&) -375

\
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy §5

potato chips (.25

candy bar _, %

Show your work.

Bp—=7o-
[ 25

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

No

Explain your answer by showing your calculation.

_Bense poknio ¢hips cos 12 41&&!&41_2&_0‘0%
e enough My ‘o by et but ke an
buy o ngj}( biR .

Copyright @ 2008 by Mathematics Assessment Page 3 Buying Chips and Candy
Resource Service. All rjghts reserved.



Buying Chips and Candy

This problem gives you the chance to:
* form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

375 5 IR amound  in cexs

’ E o o

S
o) ey Bals  Combine,
; ) |
2. Write a similar equation, using p and b, for the items Jody bought.

pt+ 62=300
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a can;y E‘ar.

potato chips ~ 7 5

candy bar J_S

Show your work.

’ 6.75
A )

$35 ];50
—_—

6.7S

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

yes

Explain your answer by showing your calculation. -

he  has  just ensugh  for

QO\(,\A | be cau Se S+ DS Sﬁ‘l
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00. |

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean? .

+thye coot 07 all DL
Lo rrss @l .

2. Write a similar equation, using p and b, for the items Jody bought.

dp+ b = 290

Copyright © 2008 by Mathematics Assessment Page 2 Buying ChipS and Candy
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a cangy bar.
potato chips d ® 06
candy bar @ A0

Show your work.

| 3(5)+ 4b =375

Zp+ CFb - 375 D + 4b = 215

-15 -o

o o = 2t

\/2\ dp + 5b =200 < ¢
b:qD |
2p +4b =316

-Qp — db=-400
- = 2k
—of =5
-5 -5 Y=
4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

a0 +.6 = 4 -AD ues
J

Explain your answer by showing your calculation.

l(\,%) + |[,c>6) f‘ﬂS | - | %*
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75. .

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes - - 3p+4b=1375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

the  Antal avanty o B bine | Sfu’)f -
’ v

2. Write a similar equation, using p and b, for the items Jody bought.

4o+ 2b =200 -
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy éar.

potato chips H5 L rayd ©

candy bar QO .
Show your work. '

ZptA L= 375 3(‘\"‘\ =375
,z@?w Lb\n‘suﬂ —%p b 27690
_.5*, = ~&25
(45 )% = F19 V= 45
135499 = 375
M) = 240
b = 6O.

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

No.

Explain your answer by showing your calculation.

(o445 = 1.p5 D Lo
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Buying Chips and Candy

This problem gives you the chance to:
» form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spends $3.75.
%0+t Ye=3.75
Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.
dor3c=300
Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay. o C=

lp
Ralph writes 3p+4b=375

1. If p stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

f&,z m(&l_‘} b.C §ﬁgﬂi ji?ﬁ[[ (%) fzofh ,Mi

Total (st

2. Write a similar equation, using p and b, for the items Jody bought.

gF+Qb=3a> | -
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy ;ar.

potato chips . 75 %
candy bar . ézO ¢

Show your work.
. & -Yvo=-600

x\by”' Sp - w375
M &'bb‘ qp'a -5
A e 75

4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Y.

Explain your answer by showing your calculation.

Ay ~ W o
WA Qeun QL dl_il@f.;
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Buying Chips and Candy S1 O
This problem gives you the chance to: :

« form and solve a pair of linear equations in a practical situation

Ralph and Jody go to the shop to buy potato chips and candy bars.

Ralph buys 3 bags of potato chips and 4 candy bars. He spenﬂs $3.75.

Jody buys 4 bags of potato chips and 2 candy bars. She spends $3.00.

Later Clancy joins Ralph and Jody and asks to buy one bag of potato chips and one candy bar from
them. They need to work out how much he should pay.

Ralph writes 3p+4b=375

1.Ifp stands for the cost, in cents, of a bag of potato chips and b stands for the cost, in cents, of a
candy bar, what does the 375 in Ralph’s equation mean?

fie 375 Men§ §275 $of Wil tetml

2. Write a similar equation, using p and b, for the items Jody bought.

4P L=
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3. Use the two equations to figure out the price of a bag of potato chips and the price of a candy éar.

potato chips % 4—
candy bar Go t -

Show your work. _}’f‘l‘\.‘—L:}7§ |
tPta )= o
P“L"\’”ﬁ?OO Do t3 b= 300
—IP-%l=-¢coo X T
-5t mtas o bSC
P=uws  B5tao=;z

j
4. Clancy has just $1. Does he have enough money to buy a bag of potato chips and a candy bar?

Cdt4Wi=

Explain your answer by showing your calculation. \ ", 5

No. He Neear 58 Mope.
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